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Math375 ~ Quiz 6 , Sept Jg 2015

Name: S G[U’hms

Directions: Show all work., No credit for answers without work.

1. {4 parts, 1 point each] True or False? Write the whole word. (No work necessary.)

{a) For all sets A, B, and C,if AC B and B C C, then ACC. Tf{)e_.
(b) For all sets A and B, it is the case that Ax B=Bx 4. Tpllsp
(c) For all sets A and B, it is the case that P(AU B) = P(A)UP(B). Tnlic

(d) For all sets A and B, it is the case that P(AN B) = P(A)NP(B). | ¢ud
2. Let A be the set of all finite subsets of IN. (Recall N = {0,1,2,3...}. For example, {4,8,10} €
Aand {3,6,9,12,15,18} ¢ A.)

(a) [2 points] Show that A is countable by describing, in English sentences, a way to list
the elements of A.

i | o by o s st

We Coun a_{semk (SE;NL gﬁ ,;l_m agt  Rewt & R imud) dﬂdu&of/ W
Lot #e BT g0 Lar)
é?A‘ a(cmﬁw«j

‘i—b WS@M - .
of"’(kur @OM Thave 642 15‘ julgg,@f—s 5) !N wilh  Maxsmt M“}' j(/

_ ond Sne s B ik -y sk wn A mﬁ,‘ﬁj
&FP,QMS m The st "

{b) [1 point] In addition to the English description in part (a), explicitly give the first 10
elements of A in your list.
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Math375 Quiz 6 Sept 23, 2015

3. [3 parts, 1 point each] Let A be the set of all subsets of {1,2,3,...,n,n+ 1} of size 3.

(a) Determine |A|.

{(b) For k < n, let By be the number of subsets of {1,2,3,...,n,n + 1} of size 3 whose
maximum element equals k - 1. (For example, {2,3,7} € Bgs and {1,4,7} € Bg since
both sets have 7 as their maximum.) Determine | By|.
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5. 1B 1= |(%).

(c) Give a simple formula for > _;_, (‘;)
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